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Errors and Measurement
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The periodic time of a simple pendulum is T = 21 \/i If fractional
and lengthl are + x and + y respectively then find the mmm&l
error in the measurement of ‘g’.
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In a cylinder the errors in measurement of its length, radius and mas:‘; :l}ll‘:
2%, 1%, 4% respectively. What will be the possible percentage errori

measurement of its density?
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How can percentage error be det in the practical of finding the

value of ‘g’ by a simple pendulum?
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In an experiment of simple pendulum, periodic time readings are 2.63 sec,
2.56 sec, 2.42 sec, 2.71 sec and 2.80 sec respectively. Find absolute, relative

and percentage error.
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Explain the different types of possible errors in physical measurement.
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